Korean language class in MUNI

m Irregular verbs

Korean predicates (verbs and adjectives) are either regular or irregular. The regularity of a predicate
depends on whether the stem of the predicate is subject to variation. The predicates whose stem do
not change, regardless of the sound of the following suffix, are called regular predicates. On the
other hand, those predicates whose stems are subject to variation depending on the sound of the
following suffix are called irregular predicates.

—-irregular

Some verbs whose stem end with = are irregular. For instance, verb 2C}. = of the stem =
changes to = when followed by a suffix that begins with a vowel

-SLIC -0/0tR
= Ct{mutdda] ask =5 LICHmutsseumnida] 2 2[mureoyo]
2 Ct{geotdda] walk 2 SLICHgeotsseumnida &2 0 R[georeoyo]
= Ct[deutdda] listen = SLICHdeutsseumnida] = 0 R[deureoyo]
2! C[sitdda] load Al =L CHsitsseumnida] 2l R[sireoyo]

= - irregular

= -irregluar predicates are subject to the following variation: = changes to either < or 2, when
ensuing suffix begins with a vowel. For instance, L} “cold” is conjugated: &+ HR =F2L + K
==/

-SU -0/0tR
= Ctgupdda] roast = S LICHgupsseumnida] % 2[guwoyo]
& Ct[nupddal] lie down & & LI CHnupsseumnida] 5% 2[nuwoyo]
& CH[dopdda] help & & LI CHdopsseumnida] & 2t R[dowayo]

& Ct[deopdda] hot & & LICHdeopsseumnidal < 2[deowoyo]



& CHmepdda] spicy 24 & LI CHmepsseumnida] 0H ¥ 2[mewoyo]
2l CH[shipdda] easy & & LICHshipsseumnida] 7 ¥ K[shiwoyo]
H = CHeodupdda] dark 0 & & LI CHeodupsseumnida] H &< 2[eoduwoyo]

A~ irregular

Some verbs that end with A are subject to the following irregular conjugation: A of the stem gets
deleted when followed by a suffix that begins with a vowel.

-SLIC -01/0tR

= CHbutdda] swell 2 &LICHbutsseumnida] 20 2[bueoyo]

X CHjeotdda] stir X &L Chjeotsseumnida] X 0 R[jeoeoyo]

X CHjitdda] build X & LICljitsseumnida] Xl 01 R[jieoyo]
Not all predicates that end with A are irregular. The following are regular A-ending predicates:
% Ct[beotdda] take off % & LICHbeotsseumnida] 1 0 2[beoseoyo]
= CHutdda] laugh 2 &L CHutsseumnida] 20 R[useoyo]
A Cl[ssitdda] wash A &L Chssitseumnida] A R[ssiseoyo]
S-irregular

Some predicates that end with = are subject to the following irregular conjugation: = of stem drops
out when followed by a suffix that begins with a vowel. A number of color-related adjectives as well
as demonstratives fall into this group of irregular predicates

-SLIC -0/0tR
Dt CHggamata] black It & LI CHggamasseumnida] 0K 2[ggameyo]
== CH[norata] yellow L2 &L I CHnorasseumnidal + 2 R[noreyo]
w2 Ct[ppalgata] red w2 =L CHppalgasseumnida] % i L [ppalgeyo]
It & Ch{parata] blue It g =L Cparasseumnidal I}t el L[pareyo]
ot 2 Ct[hayata] white ot &=L Chhayasseumnida] ot0i R[hayeyo]



Z-irregular

Most Korean predicates that end with 2 conjugate irregularly: £ of the stem drops out and a
consonant = is added, when followed by a suffix that begins either * or Ot. For instance, consider
the verb JtZ2LCt “divide”. Notice that 2 of the stem is deleted but a consonant = is inserted, when
followed by polite speech level ending -0t 2

JtZ2CHgareuda] divide

J| 2 CH[gireuda] foster

2 2 CHmoreuda] do not know
Ct 2 Ct[dareuda] different

S 2 CHheureuda] flow

it 2 Ct[bbareuda] fast

2-irregular

-= LT

Jt& LI CHgareumnida]

J1 & CHgireumnida]

2 ELICHmoreumnidal
CtSLICHdareumnida]

S ELICHheurumnida]

it E LI Ct{bbareumnidal]

-0/0tR

Z 2t R[gallayo]

2 24 [gilleoyo]
=ct2[mollayo]
S 2t R[dallayo]
=2 R[heulleoyo]
et R[bballayo]

All Korean predicates that end in 2 are subject to the following irregular conjugation: = drops out
when the following suffix begins with one of —, &=, A

& Ch[nalda] fly
0t=Ctmandeulda] make
& CH[salda] live

Z CH{meolda] far

O-irregular

-= L|CH

& LI CHnamnida]

0t LI Ctimandeupnida]
&fL| CHsamnida]

& LI Ct[meomnida]

-0/0tR

0t R[narayo]
0t= ( 2[mandeoreoyo]
&0t R[sarayo]

2 H 2[meoreoyo]

All Korean predicates that ends with the vowel £ are subject to the following irregular conjugation:
the vowel 2 of the stem drops out when the following suffix begins with a vowel.

11 CHggeuda] put off

T Ct{ddeuda] float

J| 88 CHgibbeuda] happy
Ht 88 CH{babbeuda] busy
= I (}[seulpeuda] sad

0l 28 Ctyeppeuda] pretty

-= LT

= LI CtH{ggeumnida]

& LI CH{ddeumnida]
J1& LI CHgibbeumnida]
5t &5 LI Ct[babbeumnida]
= & LI CHseulpeumnida]

0ll & LI CHyeppeumnidal]

-H/0tR
A 2[ggeoyo]
[ K[ddeoyo]
J1 1 2 [gibbeoyo]
Bttt 2 [babbayo]
=1H R[seulpeoyo]

0l it 2 [yeppeoyo]



Vocabulary

Jt2t[gabang] bag 2 Ot XI[gangaji] puppy

21 Z[gunmul] building J|2[gibun] feeling/mood

1 J][gogi] meat 3[gong] ball

Z[gil] road &=[don] money

= eli[nore] song & M= [sunsengnim] teacher

2 XHmoja] hat/cap =[mok] throat/neck

Z[mul] water Bt & [baram] wind

tH[bae] stomach/ship 4H[san] mountain

AM[seq] color 2 =[eolgul] face

At = XHjadongcha] car &l T [chingu] friend

ot =[haneul] sky ZH[chek] book
Exercises

Exercise 1. Change the dictionary form into deferential speech level. Then translate the sentence.

Example: St 0 (JtCH = W 0ll 2LICk (1) go to school

(1) &AM LB (2CH
(2) D12 (B0H

(3) 20| (220}

(4) ts0l (H&CH
(5) ZO0IXIZ (D120

Exercise 2. Change the dictionary form into the polite speech level. Then translate the sentence.

ol

Example: W0l (JtCH = W0l Ot (1) go to school

(1) 2GS Healstetol (ML)
(2) DA0IQH (=LCH

3) oA DES (HLH
(4)
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5) A& =eHE (ETH
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Exercise 3. Write the dictionary form of the following irregular verbs.

Example: £ MOt IR 2 The weather is hot = & Ct

L= OtSC0H & Brno is beutiful
F IHHIOl It (1) go to cafe with friend
Xt 2 The coffee is cold
| £LICH The wind blows
| Oiltl 2 The shoes are pretty

o O U to

Answers

Exercise 1.
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=& LICH (1) ask the teacher
Ct (1) roast the meat

Ct The book is heavy
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Ct The sky is blue
Ct (1) raise a puppy
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Exercise 2.

1
2

(1) 12| Hel2+=0l NH0H K. Her hair is black.
(2)
3)
(4)
(5)

1 20| 2 =0tR. (1) play with the cat.

A ZEE HOU K. (1) take off the coat at home.

OOl DD1E R K. (I) roast the meat on a frying pan.
2] &0l =2HE S K. (1) listen to music before | go to sleep.
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Exercise 3.
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